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QUESTION 1
What are three configuration steps are required to mount an NFS datastore in vSphere? (Choose three.)

A. On virtual machines running Microsoft Windows, increase the value of the SCSI TimeoutValue paramater to allow
Windows to better tolerate delayed 1/O resulting from path failover.

B. Configure VMkernel Port Binding.
C. On each ESXi host, configure a VMkernel Network port for NFS traffic.
D. On the NFS server, configure an NFS volume and export it to be mounted on the ESXi hosts.

E. If you plan to use Kerberos authentication with the NFS 4.1 datastore, configure the ESXi hosts for Kerberos
authentication.

Correct Answer: CDE

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.0/com.vmware.vsphere.storage.doc/GUID9FE32DE2-148C-4441-A859-18B4CC24207C.html

QUESTION 2

A VMware vSphere 6.x administrator is implementing a new eight-node cluster for business critical applications. Each
server will be configured with two 10 GbE network adapters and will utilize iISCSI for storage on one subnet.

Which feature is required to implement this solution?
A. Storage DRS

B. Network I/O Control

C. VMKernel Port Binding

D. LACP

Correct Answer: C

Reference: https://kb.vmware.com/s/article/2038869

QUESTION 3

A VMware vSphere 6.x administrator sees the following output in esxtop:
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2:32:21pm up 35 days 14:26, 819 worlds, 11 Ws, 28 v(PUs; CPU load average: 0.07, 0.97, 0.07

PCPU USED(¥): 3.3 102.90.65.910.04.51.59.71.03.9 641.11.11.03.60.50.91.02.20.50.40.90.2 AVG: 5.5
PCPU UTIL(X¥): 5.1 105.01.37.8 125.82.8 112.14,2 522.12.41.64.20.81.62.13.51.10.51.80.5AVG: 5.9
CORE UTIL(X): 15 6.2 19 8.2 12 55 4.1 5.7 2.5 5.3 1.8 2.0 AVG: 11

1D GID NAME NNLD XUSED  SRUN  %SYS  MNAIT %VMWAIT ¥IDLE %OVRLP  %CSTP MMLMTD XSWPWT
56232 56232 atxlab-puppet-m 65.67 54.17 0.00 638.66 : : 143,55 0.4 0.0 0.0 @.%

7
21740 21740 NSX_Controller. 9 32.60 359 0.44 854.78 . 361.17 0.05 0.0 0.0 0.0

334303 334303 qusmgtvrops@l 9 6.41 9.17 0.16 881.58 O. 188.87 0.e3 0. 0.00 0.0
49196 4919 ausmgtvrliol 9 S.11  8.25 0.14 884.27 0. : 0.03 0. 0.00
77058332 77058332 esxtop.10128716 1 3.72 3.54 0.01 95.46 : 0.01 0.00 0.0
6400419 6400419 qusmgtvropsd4 9 3.22 455 0.05 886.11 . ? 0.01 0.00 0.00
7833 7833 hostd.34322 31 2.32 2.28 0.00 3066.36 Y : 0.00 0.00 0.00

What does the %RDY column represent?
A. CPU Utilization

B. CPU Ready

C. CPU Cycle Wait Percentage

D. Idle CPU Percentage

Correct Answer: B

QUESTION 4

Which three methods can a vSphere administrator use to automatically synchronize time on a ESXi host? (Choose
three.)

A. Log in to the VMware Host Client, navigate to Host > Manage > Time and date and click Edit settings.
B. Configure the VMware Tools time synchronization.

C. Select the host in the vSphere Web Client, navigate to Configure > System > Time Configuration and click the Edit
button.

D. Use the vicfg-ntp command.
E. Use the esxcli hardware clock get command in the ESXi Shell.

Correct Answer: ACD

QUESTION 5

Which statement is true when adding a VM to a Resource Pool?
A. The VM share value (%Shares) adjusts to the Resource Pool.
B. The VM share value (%Shares) remains unchanged.

C. The VM limit changes.
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D. The VM reservation changes.

Correct Answer: A
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